OISC GOLF
METRIX

Innova weeklies/Innova nedélnieki -» FINALS Innova
nedeéelniekiem

Mol [11213]4]5]6]7]8)9]10]11]12]13/14)15]16]17]18]18] +/- | Sum
Par 4 ' 3/3 /33|33 34 60

413/ 3|3/3/3 /3|33 3

1 | Rldolfs Zosars 4/3/3/4/3/4/3/4/3/2 4|43 4 2 2 3 2 3 0 60
2 Andis Sirmacis 413/2/5/3/3(3/2(2 3,5 4 34,332 44| +2]| 62
2 | Eriks Blims 5/2/2/3/3/ 3/ 3/6 3, 3/4 /334,33 |3|3|3|+2 62
4 | Janis Opincans 52,3244/ 3/3/4/3|5/3|3|4|4|3|3|3 /4| +5]| 65
5 |Janis Dombrovskis |4 (3|2 3|3|5/2|3|5|3}7 4|3 /4|3 /3|3|2 4| +6 | 66
6 | Arnis Makarovs 6 2,2 3/3/5 4/3/2|2 |5 6 3|/3|4|4)|3 |3 4| 4+7 | 67
6 | Pavels Voitkevics 6 4 3/ 4 3 5/ 3/3/3|/2 4|4 3|34 3|2 3|5|+7 67
8 | Ojars Talmanis 6 4,2 334/ 3|/3/4|/3|5 /4|3 |4|4|3|3|4 /6 +11| 71
9 | Pavels Brokans 6 23|44 6 2 3 4 2 6 3 4 4 4 4|3 4|4 +12 72
10 | AndrisMoSenkovs |6 | 3|4 3|5 4/4/3|/4 /3|5 |44 3 3 4 3 3|6 +14| 74
11 | Rolands Bérins /7 4,3 3 4/6 3|3 4,26 5 4,5 3 4 4|3 |5 +18| 78
12 | Aivis Talmanis 5/4'5 3/5 5 4 5 4,2 7 4 34,4 3|3/ 4|5 /419 79
13 | Maksims Voitkevics /7 4 /324 5/ 4 5 3|3 6 8 4 4,3 5 4,36 +23| 83
14 | leva Zvane 7 3/4/3/5 4,4/ 3 5 5 8 4 6 3|4 5|3 3|5 |+24 84
14 | Zane MoSenkova 6 3/4 4 5 6 5 4 4 4/ 6 4 3|4 5 3 /3|5 6 +24| 84
16 | Arta Ozola 9 55 3/4 6 4 4 3 3/8 6 7 4,4 4 6 5 9 +39 9
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Avg

Difficulty

Birdie -1

Par 0

Bogey 1
Double Bogey 2
Triple Bogey 3
Other >3

58/3.2/31|3.3/38(47|34|36|3.6/28|5.7|44/3.7|/3.8/3.6(3.5|3.2|3.4(49|73.3
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Hole-by-hole statistics

_1102/3/4.5]6]7 18 9]10]1112]13 14151617 18 |19 Tot i
Par 4 |3/3(3(3(3,3|3/3|3|/4|3|3|3|3|3|3|3|4]| 60

2 | 513|176

5| 2 2

6 97|27

314 5|56

2 1,4 5 1
4
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